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5. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly ‘
dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet. |
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or
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Lack of which of the following vitamins in.

humans may cause anaemia?
(1) Vitamin By
(2) Vitamin By
(3) Vitamin B>
(4) Vitamin Bis

The vapour pressure of a pure organic liquid
(M = 80) at 30°C is 0.850 atm. A non-volatile,
non-electrolyte weighing 0.5g is added to 40g
of this organic liquid & then the vapour
pressure of the solution is found to be .845

atm. Calculate molar mass of non-volatile

electrolyté:

Iy 95

2) 32

3 170

@ o4
Among the following carbonyl compounds,
least reactive for neucleophilic addition is —

(1) Butanone

(2) Propanone

(3) Propanal

(4) Ethanal
A tertiary alcohol shall be obtained by reaction
of RMgX with -

(1) HCHO

(2) RCHO

(3 RCH.CHO

4 RCOR

Assertion (A): Phenol is a stronger acid
than an alchol.
Carbon atom in phenol to
which -OH group is
attached is sp® hybridized.
Select the correct answer -
(1) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not
the correct explanation of (A)
(3) (A)istrue but (R) is false
4) (A)is false but (R) is true

Reason (R):

sEiforRag & @ 5w el & =0 9
IRTTT A= H & "l &7

(1) I Bz

2 faefm B,

(3) ™= B,

@) fdeIf = Bis

30°C T TF fagg PTG 59 (M = 80) B
9 &9 0.850 atm T | TP [T g,
IFSTECH T 0.5g 914 40g §9 PHEMG ga
A e a1, @ Rers &1 9™ <19 0.845
atm U1 47| aTgEiel {Ed SEed &
AleR 919 9T FRA|

L 95

2 32

3) 170

@ 64

uifeiag sEiNa el § e S8

gmraﬁs Iffhar ¥ ve9 9 fhanla a=

?

(1) SeAE

(2) 9EE

3) T

@) vId

% S Yeblidl WISl 8IT &, RMgX @

@;qT -

(1) HCHO¥

(2) RCHOW

(3) RCH.CHO¥

(4) RCOR™

IR (A): T % TopEidl @
e AE g I
BT &1

BT (R): it § 9 @A
WA | -OH W9g ST
& 98 sp’ GoiRkd & |

| SR A —

(1) =H(A) 3R (R) T § 3R R), (A)
P HEl HARE] Hel &

2 3 (A) SR (R) W € oG (R), (A)
PT TEl AT 78] Peal ©

3) (A) T 2 3N (R) I &

@ (A)ITT & IR (R TH 2
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6. In the reaction sequence - 6. Mg gl — |
C,H.Cl—2 5 CH, =CH, —B 5 CH,Br C,H.C1—2 s cH, =CH, —8 5 CH,Br
I I
CH,Br CH,Br
C C
CH=CH <2 CH,=CHBr CH=CH <2 CH, =CHBr
the reagents, (A), (B), (C) and (D) are - 7 (A), (B), (C)IR (D) &§ =
(1) (A) = Alc. KOH; (B) = Brz; (C) = Hot 1) (A) = TeHiEiad KOH: (B) = Br;
water; (D) = NH3 (C) =T wTeT; (D) = NH3
(2) (A)=Alc. KOH; (B) =Brz; (C) = Alc. #)) (A) = I{Rﬁ?ﬁ%l‘cﬁ KOH: (B) = Br;
KOH; (D) = NaNH; (C) = tepigiferid KOH; (D)= NaNHa
(3) (A)=Aq. KOH; (B) = Bry; (C) = Aq 3) (A) = Seig KOH: (B) = Bry;
KOH; (D) = NaNH» (C) =vTelid KOH; (D) = NaNH;
4 (A) = Ag OH; (B) = Cl3; (C) = Ale. @ (A = Ag OH; (B) = Cly
KOH; (D) = KNH; (C) = Tepieiiors KOH; (D) = KNH;
7.  For a pericyclic reaction, untrue statementis- 7. % WiNIsfern ffpar & ddy & s/
, (1) The electron are reorganized in a a:i:{;r 5 ._3 " 5 5 2
cyclic manner. =1 B
(2) The reaction is concerted. @ %Slliilaiill |fferT (concerted) e
|
(3) Reaction is highly stereo selective. (3) sffra sule wRE Rifes
(4) The reaction is generally affected by BT B
catalyst or by a change of solvent. “) WS;;?T o B 2 ﬁ
8. Identify the incorrect staternent about catboxyl 8. DHEIMG WE & WM ¥ WG Y
group - Ul —
(1) Carbonyl carbon is electrophilic. (1) FEIFE BT gelggA—FTer BT
(2) Carbonyl oxygen is electrophilic. @ il 3R e Y
(3) High polarity of carbonyl group is due NI '
to resonance. (3) FEiNT T I I gadr A<
(4) Carbonyl carbon and three atoms @ PR EN B ] P
attached to it are in the same plane. @ TR e & m?a %. g‘lﬁ\_{?l
9. Among the following variables - 9. aEifelRew == § —
(a) pressure (b) volume (a) ] (b) ™A
{©) temperature (d) composition ) 9™ (d) wEed
Which ones ate state functions? BN | ORI BT &7
(1) (a)and (b) (1) (a)3R(®b)
2 (b)and(d) @ ®3R@
(3 (c)and(a) 3) (o) 3R (@

4) Allof (a), (b), (c) and (d) @ T (2), (b), () 3R (d)

14-2%& Page'3 of 32
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10. 1 ¢ is an Eigen function of the operator 4 , 10, gy = sifmes % BT ST BT &I, ol
what is the Eigen value? AT AN TT BII?
1) 2a 1 2a
2 2 @2 2
(3) e2x (3) eZX
@ 1 @ 1
11. When the bond order between carbon atoms in =~ 11. 9 TN, TR iR tfifeds # wH+
ethane, ethylene and acetylene increases, then - ARl & IeY Bife # afg Bl B, A —
(1) bond length and bond energy both (1) < waE 3R 99 Sl e 939 & |
increase,- S ; : v
rease, (2) < G 3R 9 Hol S Hed
2) gggi al:r;tgth and bond energy both @) @ S e
(3) bond length decreases and bond energy 2| )
increase. @ 9 d9E ged & 3R 9 SHul "ed!
(4) bondlength increases and bond energy 1
decreases.
12. Identify z — configuration - 12. z-— <= YA —
CH3\C/H CHs\C/,H
) [ 1) 11
C C
1" NBr -’ Ngr
CH3\C/ Br CH3\C/B1'
@ [l (2) 1
C C
Cl,/ ™~ H C1 PN 51
H Cl H Cl
\C - Ners
1K) [ ) I
- C
B Nl B~ Ncl
CH3\C _H CH3\C _H
@ [ @ ]
C C
B Nal B N
13. For the calculation of standard molar enthalpy 13. H.O@¥) @ a9 P! Aok 99H T
of formation of H>O(g), the reference standard DI IOFT B, WeH AP AW Tl § —
state is not -
(1) 25 temperature g; %50 °Cta'l13rm
(2) 1.0 atm. pressure L atm. :
(3) H:and O; in gaseous state () H; 3R 0 Ihy srawen §
4) STP 4 STP
14. In Nessler’s reagent, the active ion is - 14. ¥R AMFHE # g A & —
(1) Ag* 1 Ag*
(2) Hg* (2) Hg*
(3) [Hgh)? (@) [HghL]*
(4) [HgL]® (4) [HgL]®
14-4 Page.4 of 32
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15. Assertion (A): The nitration: of toluene 15.  aIf@er (A): SigeT @ Tseed «® &R
produces larger percentage of faenfa Sere @7 ufrerer
para substituted products than Il ST B e ST
‘ortho products. i 2

Reason (R): Tlie para position shows no steric HROT (R): el Rerfy By R o
hindrance. SO R
Select the correct answer, - qE SR :Tﬁ _
(1) Both (A)and (R) are true and-(R) is the M) =FFA) @k R §F § @R ®),
- correct explanation of (A) (A) B TE amEr 1
(2) Both (A) and (R) are correct but (R) is @) <A AR R) wg ¥ R (R),
not the correct explanation of (A) (A) BV & RAT 8T FRaT &
(3) (A)is true but (R) is false 3 (A) 99 & 3R (R),J9T &
(4) (A)is false but (R) is true @ (A) 3N B IR (R) T 3
16. Assertion (A): The paramagnetic moments of 16, 3@ (A): La™ ik Lu* ST &1
; La* and Lu®* is zero. ITTRDHI AT I T
Reason (R): La** and Lu** have no unpaired BRI (R): La®* &l Lo # argfue gorgia
electrons. e &1
Seléct the correct answer - e SR ufeami —
(1) Both (A) and (R) are'true and (R) is the @) =sFiA) 3k ®) T9 § 8@k ®),
corregt‘ ‘exp’lana_tidn of (A) (A) B T e & -
(2) Both (A)and (R)are true.and (R)is not @) <FHA) aR ®) T@ E T R),
. ﬂﬁ correct'expla}nat1on of (A) (A) B G& e TS BT 8
(3) (A)istrue and (R) s false @) (A) 99 & &R (R) ow &
{4 (A)isfalse and (R) is true @ (A 3G 2 3l (R) G B
17. Who described the utility of audio — visual aids 17, fR@or Jfrw ufhar & IRM s
in teactiing learning process by his cone of ARl BT SUARCT ST U+ g Tq §RT
experiences? ey guis fopar?
(1) Edgar Dale () TSR A
(2) Edgar Bell @) TR I
(3) Edgar Bra'in (@) TR
(4) Edgar'Rayn @) TSR
18. Frofn the following information : 18. orEiiferad & o —
Hg(l) + Cly(g) — HeClu(s), AH =— 224 T Hg(l) + Cla(g) — HeCla(s), AH = —224
Ha(1) + HeCla(s) — HeaCla(s), AH = 41.2 He(1) + HgCla(s) — HgoCla(s), AH = 41.2 J
Calculate AH for the process — AfAfhar & AH 91 o BN —
HgzCla(s) — 2Hg() + Cla(g) Hg:Cla(s) — 2Hg(1) + Cla(g)
(1) -265217 1) -265.217
() +183.87J (2) +183.87
(3) -183.87 (3) -183.817
4) +265.27 4 +265.27
14-2k Page 5 of 32
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19. Among the following steps in Ho & Br. 19, cuifeiRad H. 3R Bn @& W& RS
photochemical reaction, which one is an Afafspar & el # s e g 87
inhibition step?

(1) Brz+hv—2Br (1) Brz+hv—2Br

(2) Br+H; > HBr+H (2) Br+H,—sHBr+H

3 HBr+H—>H,+Br (3) HBr+H->H:+Br

4) Br+Br—Bn; 4 Br+Br—Brn .

20. Among the following isoelectronic ions, which  20.  3ERfeiReT GHeMaE IR ¥, =eH BT

one has least radius? et &7
() Na* 1 Na
2) O* 2y O*
3) F 3 F
@ Mg @ Mg

21. Who was the propounder of sociocultural 21. HSM/I® [RHN 3 AmiTE— Wﬁ?ﬁ
theory of cognitive development? Rigia @& gfodes B9 97

(1) Jean Piaget Q) <F s

(2) Jerome S. Bruner (2) RW TE. TR
(3) Lev Vygotsky @ <9 CIERIACA
(4) William Wundt @) fRftrm goe

22. A molecule has enough electrons to fill 22. TE 39 & UM 15 MO %_+ AR m‘ﬁr
15 MOs. Which of the following statement soiag &1 srifoRaw womFl § @i/ g9
about this molecule is not true? v & forg wog e &2

(1) The 15 MO’s with lowest energy shall (1) ~gATH Hell grel 15 MO TaWeM R
be filled first. SIRAT |

(2) The 15% MO on the list shall be called 2 Qﬁ- #F 158 MO @& HOMO G
HOMO. STRATT |

(3) The 16" MO on the list would be 3) = ¥ 1631 MO, LUMO 8|
LUMO. (4) HOMO 3k LUMO & w7 fyee

(4) The larger the energy gap bet\fveen o 3R e SR Tat & S
HOMOs and LUMOs, more easily a 3]?13’ '

: ; ¥ golgg ST & SR

molecule’s electrons shall be excited.

23. Assertion (A): Lanthanides do not form amine  23.  SIf¥HY (A): oSS WA & WA Aepel

complexes in water. & T &
Reason (R): Water is weaker ligand than BRI (R): W, VA @Y 30T gzia forle
amine. 2
Select the correct answer - TS o= gfﬁ —
(1) Both (A) and (R) are true and (R) is the (1) <EF Q) @R (R) o9 ¥ aR (R),
correct explanation of (A) (A) & wd =
(2) Both (A)and (R) are true and (R) is not (2 =HEi( A) &R (R) ¥eq & W (R),
the correct explanation of (A) (A) B 9E GRAT TE BT B
(3) (A)is true but (R) is false 3 (A) ¥ g 3R (R) 3y 2
(4) (A) is false but (R) is true @ QAITIAETIR R T &
14-4 Page 6 of 32



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

24. 36g of glucose, CsH120s, are dissoived in 2kg  24. 2kg Td # 36g IgdN, CsHiOs e & o
of water in a vessel. At what temperature (°C), ¥ 9o &7 TRFie (°C) |y B e
the shall boil? Ky for water is 0.52 K kg mol! & e & fo1 Kb = 0.52 K kg mol!

(1) 273K (1) 273K

(@) 100.52°C (2) 100.52°C
(3) 99.948°C (3) 99.948°C
(4) 100.052°C 4) 100.052°C

25. The transition elements (3d-series) ion having 25. 3d—-2i°t & <HsHT ngeﬁ G D
the configuration given below, shows Efead WREAT BT BM W ST
Jahn-Teller effect? SE—CY THTd el ?*_Qﬁﬁ[ ?B";

@ d& @ &
(3) le (3) le
@ & @ & g
26. Identify the untrue statement about an 26. SoldoIdERD AfAHFAT Ef? a9y ¥, SNy
electrocyclic reaction - AT § —

(1) Itis an inter-molecular reaction. 1) I8 Th GIFR’—GT[ﬂEE IfAfrar 21

(2) A reactant converts into cyclic 2 uH ANEHe dEflae Sag ¥
product. gRafia & oI &1

(3 Iiis areversible reaction. (3) IE Up IoHAU AHfHAT B

(4) When it reverses, a 6 - bond in cyclic @) w9 sIfbar Red sxit 8 @
compound breaks to form a conjugated st e &1 16 o—d Teaw
T - system. T | —Red 9 e B

27. Which is not antihistamine drug? 27. wfi-fRemEa 7 8 & —

(1) Iproniazid 1) rEHFERTS

(2) Ranitidine () FRdm

(3) Cimetidine 3 Rpfes=

4) Brompheniramine @ SRS

28. NMR signal is generited due to absorption 28. NMR Waga fba faferor & sawimor ¥

of - Jq B &7
(1) Infrared radiation (1) SraRe fowo
(2) Microwave radiation (2) TEHIET Rl
(3) Radio waves (3) e T
(4) UV radiation @ UV R
29. Assertion (A): Lanthanides may be used as 29, SIFmeE (A): WSS B B B
biological tracer of drugs. IRCCiEe oO% & wq §
Reason (R): Lanthanide absorption peaks are TR &R IF B
narrow and very characteristic. R (R): -A9ISS 61 e W Hahrof
Select the correct answer - 79 A= B B
(1) Both (A) and (R) are true and (R) is the HE SR Al —
correct explanation of (A) 1) TFEIA) IR R ¥4 T IR R),
(2) Both (A) and (R) are true and (R) is not (A) BT W8 AT Bl @
the correct explanation of (A) @ <t (A) 3R R) w1 & q—ﬁ% ®R),
. . (A) B T8 ARAT 81 Bl
(3) (A)istrue and (R) is false @) (A) T ? 3R (R) e 2
(4) (A)is false and (R) is true @ (A) e § R R) O & )
14- 'j* Page 7 of 32
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30.  Assertion (A): AlOH); is preferred as  30. W@ (A): ANOH); & 99 g
antacid over other metal sifeaTssl Td TERIaaEel
- hydroxides and oxides. ST e Ul Il & Y
Reason (R):  AI(OH); is insoluble and e THE B E |
does not increase pH over BT (R): AL(OH); #ifer ¥ vd pH
- FT A 7.0 W ARE 8
Select the correct answer - SN Wml
(1) Both (A) and (R) are true and (R) is . .
the correct explanation of (A) M = ) I ®) Wl 3l ®),
(A) B TE ARAT &
(2) Both (A) and (R) are true but (R) is not @) < (A) &R ®R) T E th ®),
the cggect explanation of (A) (A) BT & AT TE B R
(3) (A)is true but (R) is false @) (A)FH B &R (R) o 2
4) (A)is false but (R) is true @ (A) I E IR R) T B
31. In which of the following reactions, for 31. smElfeRaa fffhareh & fewd s
replacement of diazonium group by a —Br W & —Br ¥ ¥ UfrRenfia o= @ forg
group, copper powder is used as a catalyst? P UIGSY IOREG & T § FANT 981 a5ar
87
(1) Sandmeyer reaction 1) SRR iRk
(2) Gattermann reaction 2) e e
(3) Reaction with KI (@) KI & TR afie
(4) Reaction with HBEF, @) HBE; 3 WRr 3
32. Crystal field stabilization energy for high spin  32. S=a =& d* IKGAGT HHa & g
d* octahedral complex is - e & wmilewr Sel e A 9
DI 4 37
(1) -0.6A0 1 -0.6A0
2) -1.8A0 (2 -1.8A0
3) -16A0+P 3 -1.6A0+P
@ -1.2A0 @ -12A0
33. Which of the following is the correct formula 33. fHfifeg d§ 9 @9 8 &1 WoMciEg
for systematic behaviour theory of Hull? ZgER RIgid 51 & g 27
@ S-0-R (1) TE—=-3R
2 S-E-R Q) THIIR
() S-A-R (3 THTIW
@ S-I-R @) TE-IE-3R
14- * Page 8 of 32
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34. Identify the R configuration - 34. R TR UEEIQ — -
Cl cl 7
/
60 CHSCH20H2+ CH,CH, @) GH;CH'QC};?—IL/CI;CHS
H 3
CH, CH,
2 H I OH 2 H OH
CH,CH, CH;CH, 1o
0 0
[l I
C-0OH C-0H
(3 (&) 155 TI0
H CH, H CH,
OH OH
CH, CH,
@ HO H @ HO H
CH,CH, CH,CH,
35. Which of the following is not the 35. fr=ifeiRad # ¥ ol wrMfbe wu 9 W@y
characteristics of mentally healthy person? SIfdT 1 LT =8 87
(1) Emotional balance (1) wiale Ager
(2) Socially adaptable ) wEIfE $U | gy
(3) Impatience (3) arfRen -
(4) Optimistic outlook @) ST m
36. For the reaction No + 3Hz — 2NHs, 36. st N2 + 3H, — 2NH; @ iU afg
if 25581 =2 ¢ 107 mol L §7, the value of AL -2 x 107 Arer ex! dapvs Y @
A M) ould be — L A[i{Z] HT A BN —
(1) 1x 1074 e dere!
(1 1x10*molL? S (2) 3x10* ¥ dex! dHvs!
(2) 3x10*molL™"S™! () 4x 103 e Jprs!
(3) 4x10*mol LS @ 6x 107 9 ez apve!
4 6x10*moll?S!
37. Number of electrons that can be accommodated  37. n+1=4% &l Feel § @ geagl
in all the orbitals withn +1=4. & T B8Rl —
1y o 1 6
(2 8 2 8
3 10 (3 10
@ 2 @ 2
14-4 Page 9 of 32 '
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38. Among the following radicals, most stable 38. 3wEiferRad Feidi H waifte wE § —
~  ~uradical is -
) CH;=CH _ () CH=CH
2) CH=CH-CH, 2) CH=CH-CH,
R R
| l
3 R—C* 3 R—C*®
| |
R R
R R
| I
(4) R—C* (4) R—Ce
T [ I
H H
39. Identify the untrue statement about substitution  39. CgHg ¥ — X W P URRemoE & dey §
— X group in CsHs - I HU YSANAY —
(1) AG®for the react:.ion : ()  AG°HT 9 ifbear -
CsHs — CsH5X is close to zero, 3
(2) ‘The addition reaction: CsHs — CeHsX T U 2 |
CeHs + X» — CeHeX, is highly 2) ANTIH ST
endergonic. CsHs + X2 — CsHsX2 3T SHoti=img]
(3) E. for formation of addition product I
CéHsX> is higher than for the 3) INIF SAE CeHsX2 97 Bi Ea,,
formation of CsHsX. CeHsX S5 I el 929 2 |
(4) The non-aromatic product CsHeX> is 4) F-REeH 9TE CeHeXo,
as stable as CeHsX. CeHsX & WA fRer ¥
40. On the basis of given AH and AS value signs 40. <€ 7 AH 3R AS & 7 & fre I”
for four reactions, identify which one shall be IraRey & forg, ufgarel fr senfeifag &
spontaneous at all temperatures? P W 9 W W gRafdg arei?
(1) AH=+: AS=+ (1) AH=+; AS=+
(2) AH=-; AS=+ (2) AH=—; AS=+
3 AH=-: AS=-— 3 AH=—; AS=-
@) AH=+; AS=- @) AH=+; AS=—
41. The incorrect statement about nitration of 41. €GN & ARLYN & EIT § G BT
benzene is - g -
P . ®»n =+ .
NO, acts as an electrophile. NO, & SdRi—FE & @<E
(2) H1SO4 acts as an acid and HNOj acts IER Bl B |
as a base. (2) H804TH E;[m P TWE AR %E{NOa‘
(3) Nitration is an electrophilic U &R® DI TE HF IXAT & |
substitution reaction @) T 5§ M TP SefdelT—
@) Nitro group has + I effect in directin SHHISHAT & |
 §roup £ (@) TES OE + 1799 B AR A
substituents. gﬁf W R FRuds waE srer
]
14-4 Page 10 of 32
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42'. Which of the following is not the component of ~ 42. FrefeiRad § & ST AT S gﬁ?{ E3)
emotional intelligence? HSH T8I B°
(1) Emotional perception ) wifrE goelier |
(2) 'Emotional integration (2) wRfE vdeee
(3) Emotional understanding (3) WRE g
(4) Emotional imbalance @) ETE S
43. Intramolecular hydrogen bond is present 43. T # 9 fu¥ srawifta® (Intramolecular)
in - EESIoH g9 SufRer €7
. (1) Water (1) <
(2) O-Nitrophenol 2 O-ArEsibHe
(3) P-Nitropherol (3) P_AESIbAl
(4) Methyl amine @ APRE =
44. Lineweaver — Burke plot is drawn between 44. T () &R Gexge Idr=dl [s] oG
velocity (r) and substrate concentrations [s] in g faR-99 wife f&F R " s
which of the following ways? &7
@ = and[s] W 1 &)
(2) rand[s] ) r 3R [s]
@ I and > @) 1 1
4 r 1 [S] r [S]
@ rand — @ | &R [?1]
45. Which of the following is the wrong 45. ¥#Tgidl @ gar fr=fafem & & $FW
combination of instincts and emotions, as given o1 YgRT 3R AT & e qaerd 27
by McDougall?
(1) Escape — Fear 1) YT — 99
(2) Combat— Anger (2)  JIAT — BE
. (3 Repulsion —Disgust 3) ﬁqﬁ:r — oy
(4) Curiosity — Distress @) T — o
- 46.- Which of the following is the highest stage of 46. fr=foRed # ¥ SN TR gRT_¥ex
- cognitive development given by Bruner? TSI D [T & Garzg awel 87
(1) Enactive stage (1) =fHFT @R
(2) Symbolic stage (2) VdlwHS 3Tawen
(3) Iconic stage (3 wiiemas sraen
{4) Sensory stage @) HIEY AR
47. The incomect statement about complexes 47. WNESHE §NT 99 T¢ HEHa & way o
formed by lanthanides is - 3 P PBIA AT &7
(1) Hard donor ligands are preferred. Q) TS T feriel o ureifwar 4@
(2) High coordination numbers are often STl € |
favoured. (2) U STO GAEI GE&IT TSIl
(3) 4f orbitals do not play a significant part gl , _
in metal-ligand bonding. (3) 4 HED f»ﬂg—[?l I R
(4) Aqua ions are typical and T gl
* : @) TFEr 9 ufoedl AR Ye—aEy
6-coordinate.
] B €
14-4 Page 11 of 32
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48. Untrue statement about Michaelis Menten 48. ¥Sdblord—a= ReR{F K, & GaeT F 19y
Constant Ky, is - HT & —
D g, =2t @ o _katk
1 ' m k]_
(2) Km egual to the concenfration of @ Kn 99 '\’TsRﬁ‘c’ Y 3
substrate at which the rate of formation - .
o W SWIE 99 B AT SeaH
of product is half of the maximum rate "
p_ 4T B AR B, 9, AEar 9o
at high concentration of substrate. L. N
. e () Kn U% 9= RRRi® 5 ¢
(3) Kn is an equilibrium constant. S _
(4) K is a steady state constant. @ Km T T £l
49.  The pH of a solution obtained by mixing 50ml  49. D Taera 0.4N HCI &, 50 el @ 02N
of 0.4N HCI and 50m] of 0.2N NaOH is - NaOH &7 50 faefi fAawy samr @@
fae@s &1 pH B —
@) -log2 1) -log2
2) -log0.2 @) -log0.2
3) 1.0 3 1.0 "
4 2.0 d 20
50. The teaching strategy, in which students of 50. I8 Rwervregg e fSwd wer # ffe= gy
different intelligence levels in the class learn R o fQemi fiee ,@—C\'—@ﬁ '{{1‘5’[ |
together in small groups is called - XEFHR AT BYd 8, el 8§ —
(1) Step learning (1) 9% e
(2) Brainstorming (2) AT Sger
(3) Co-operative learning () TEDHNI ST
(4) Hierarchy learning (4) USTIHH AREH
51. Highest oxidation number of nitrogen is 51. fFTH ARcoM ©1 S=ad sifed®oy o
in - &
(1) NH; (1) NHs
(2) HN; (2) HN; "
(3) NH;NH: (3) NH:NH-
(4) NHOH (4) NH;OH
52. The tendency of BFs, BCls and BBrs to behave  52. BFs, BCl3 U4 BBr: @ osd 3l @1 #ifa
as Lewis acid decreases in the sequence - FAER FIT Bl \;i?gi%r BT HCAT §3T T
(1) BF:;>BCl:>BBr; (1) BF;>BCli>BBr3;
(2) BClz>BF;>BBn3 (2) BCl:>BF: > BBr3
(3) BBr;>BCl; > BFs (3) BBz >BChk>BF;
(4) BBr3;>BF:>BCls (4) BBr;>BF;>BCl
14-4K Page 12 of 32
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53. Ozonolysis of an alkene followed by reaction 53. TP UeHiF & SAGFIGRYT P @ UTAR]
" with Zn-H0 yields acetone and formaldehyde. el gd [ ¥ fhar o9 R WiieE @
The alkene is — piifceess ST WK B8R & | I8 YA
3
(1) Propene D o=
(2) 2-Butene 2 2=
(3) 2-Methylpropene (3) 2-3fredidE
(4) 2-Pentene @) 2.5

54. ACICH,COONa =224 ohm! cm® gm eq”? 54. \CICH,COONa=224 39! &2y gediep!

ANaCl = 38.2 ohm™! cm? gm eq’! ANaCl = 38.2 3 1.2 9 Jedis !
AHCI = 203 ohm™ cm? gm eq’! AHCI =203 39! S92 79 geaid !
What is the value of ACICH, COOH? ACICH,COOH T 919 7T &7

(1) 288.5 ohm™ cm? gm eq™ (1) 288.53M! AAAM g !
(2) 289.5 ohm™ cm? gm eq! (2) 289.5 M HA 2 UM WI
(3) 388.8 ohm™! cm? gm eq! (3) 388.5 3RT! T2 UM AT
@ 59.5 ohm™ cm? gm.eq™ @ 59.5! FH2TM FeuiE!

55. When four litres of an ideal gas expands 55. U9 U&% 37G¥ i &1 R wilcy IR WY
isothermally into vacuum until its total volume W TR HRar €, e §, 99 9% S
is 20L, calculate the work done. Given 20 lex T8 8 T, SR B AT BRI |
R =0.082 L atm K mol* fi2m & R =0.082 L atm K mol?

1) 04307 (I) 04307
(2) 001621 2) 001627
(3) 5007 (3) 5007
4) 00J @ 0.07J

56. Standard molar enthalpy of the formation at 56, sEifeiRaqd # fda®! WMT B FFd AR

208 K is not zero of which of the following? TR 298 K W I TEI 87
(1) Brz (gas) (1) Brz(gas)
(2) Cl2 (gas) (2) Clz(gas)
(3) Na(gas) (3) Nz(gas)
4 Oz (gas) @) 02 (gas)
57. Which of the following polymers is not found 57,  3®ENfeTRad agetet # Hiar il 3R SFaxi
in plants and animals? # T8y Sir 87
(1) Buna-$ @ SFET-S
(2) Rubber (2 R
(3) Starch @) wr
@) Cellulose @) W‘“"
14-4 Page 13 of 32
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58. Maximum ozone found in the aliitude regionin ~ 58. 9IgwSd ¥ SuiE Ol &% H JRIGaH S
atmosphere is - TR I ® —
(I) 0-10km (1) 0-10 f it
(2) 20-30km (2) 20-30 f.
(3) 5060 km (3) 50-60 T4
@) 80-100km @) 80-100
59.  Assertion (A): Entropy of a solid at 59, RFHYU9 (A): TF I B WAGY W
absolute zero is found to be T T Urs o 8]
Reason (R):  Number of possible state PR (R): RN R SN H ¥
S fogmthir (;ollijél) Sils ?);e ai SFEeRIia B HeEA U 2 |
absolute zero. Bl ST A —
Select the correct answer - 1) < (AR R EE T iR (R),
(1) Both(A) aI;d (R) are tfn(llz )and (R)isthe (A) T T8} IRAT 2
correct explanation o : F O
() Both (A) and (R) aro true and (R) is not @ ?%A%?%ﬂ%%“@ ®).
correct explanation of (A)
() (A)is true but (R) is false (3) ()T & MR (R) 34 8
@) (A)is false but (R) is true @) (A)ITA ¢ 3R (R) ¥ &

60. Assertion (A): In the bromination of benzene, 60. IIRFAA (A): 59 & sHFHOT &, SRS
the catalyst FeBrs is not added FeBrs &I 918X 7T fdeniax
from outside but generated ST fsror § Bry aen
inside the reaction mixture by TR DI Bie T A
adding Br, and iron filings. I TN B

Reason (R): FeBr; readily reacts with BRI (R): FeBrs 981 & 9T digar o fbar
moisture and rendered inactive. & ARfarie 8 o 2
Select the correct answer - Hel S gAi — .
(1) Both (A)and (R) are true and (R) is the (1) =HIA) @R R) @ § R ®),
correct explanation of (A) (A) DI Gl ARAT FI &
(2) Both (A)and (R) are true but (R) is not 2 sHiA) IR R) 99 & (R),
the correct explanation of (A) (A) I Hel AT 78] HRal
(3) (A) is true but (R) is false 3) (A) 99 & 3R (R) erG<g ®
@) (A) is false but (R) is true @ (A) 3G® B &R (R) 9@ @

61. T and V represent the kinetic and potential 61. T 8iR V Waf¥fad o & 7fae vd Raftw
energies respectively, then the Hamiltonian (H) Sol # wEE, o SRS (H) o1 9F
is given by - BT —

(1) H=T-V () H=T-V
@ p=I 2 =T

v \Z
3 H=TxV 3 H=TxV
@4 H=T+V 4 H=T+V

62. Theincorrect statement about cyclopentadienyl ~ 62. IR Hefgel FeCpe B
iron complex FeCp; is - T § Iy B & —

(1) Oxidation state of iron in FeCpa is 2+. (1) FeCp, ¥ AIRRT H o
(2) Oxidation state of iron in FeCp; is AR 2+ 2 |

Zero. _ (2) FeCpy § 3R BT 3ifairen=or wRey
(3) It is also known as sandwiched T 21

compound. @) T JsRw e & wed #
(4) Itis a metaflocene. @) e U YeardT 2

14-2 Page 14 of 32
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63. In the reaction: 2 ~bromo - 2, 3 —dimethyl ~63. ARRHAT 2 S - 2, 3 ST T +
butane + RO~ — 2, 3 —dimethyl — 2 —butene + RO™ — 2,3 -SEfEda -2 -+ 2,3 -
2, 3 —dimethyl — 1 -butene. SERRIET - 1 /&M
Maximum amount of 2, 3 dimethyl - 2 —butene 2,3 -SEMUET -2 - 9EH @ aitE a9
would be formed, when RO is - TRf, 51§ RO"&FIT —

(1) CHsCH20" (1) CH3CH:O
?Hs CH,
L, _ I
2) CHa—‘-(I:O (2) CH—CO-
|
(I:HS CH,
_ I
(3) CH.CH,— (130 (3) CH,CH,—CO~
‘;H 2CH; CH,CH,
l |
4 CHCH,— (l:o (4) CH,CH,—CO -
|
CH,CH, CH,CH,
64. Consider the following reactions - 64. eEnfoiRad siffhaRl W fER & —
(a)  Crystallization of a liquid into a solid (a) UP %9 & 8N H hecaiom
(b)  Raising temperature of a crystalline (b) T 8N &1 a™ § 0K 9 100K
solid from 0 K to 100 K D Iy
(c)  Dissociation of solid NaHCO3 (¢)  NaHCOs &7 feres
(d H2(g)—>2H(g) (d Ha(g)—>2H(g)
In which of the above cases, the entropy G‘El'éj,‘cﬁr forer TeEfdy g 7
increases? ‘ '
(1) (), (b) and (¢) only M (@), 0) 3R ) D
() ), (c) and (d) only @) (), (c) AR (d) Paer
(3) All (@), (b), (c) and (d) 3 (@), (), ©) AR (d) T
@ None of (2), (b), (c) and (d) @ (@), ®), ) IRDE q PE §t T
65. Consider the following conditions of reaction :  65.  awrIfeRea sifAfshar Temel W AR &< —
(a) Configuration of the reactant. (a) ThITPRE T EET]
(b) Number of double bonds in the reactant. (b) ThaeRe F 3T o gE|
(c) Thermal-or photochemical conditions. (c) b AL YT AP T2
The configuration of the product in a pericyclic AR B G SONTEies kT |,
reaction depends upon - Rl e & —
(1) (a)and (b) only M) (@) 3IR b) DT
(2) (b)and (c)only 2 () 3R ()BT
(3 {(c)only
@ (@@
(4) Allof (a), (b) and (¢c) ,
@ W (@), H)IR (O
14-2 Page 15 of 32
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66.

67.

68.

69.

Incorrect statement about organolithium  66.

compounds is -

(1) C-Libond is highly polarized.

(2) Organolithium reagents are strongly
basic.

(3) Organolithium compounds are starting
material for the preparation of other
organometallic compounds.

(4) Carbon in organolithium compounds
attracts most of the electron ions and
resembles a carbocation.

Consider the factors - 67.
(a) Valency of the metal
) The principal quantum number of metal
(c) Geometry of the complex
(d) Nature of the ligand
‘The magnitude of crystal field splitting energy
Ay depends upon -
(1) (a) and (b) only
(2) (a), (b) and (c) only
() (c) and (d) only
4) All of (a), (b), {c) and (d)
Assertion (A): The boiling points of carboxylic ~ 68.
acids are higher than
aldehydes, ketones and

alcohols of comparable mass.
Reason (R): Carboxylic acids have more
extensive association due to
inter-molecular hydrogen
bonding.
Select the correct answer -
(1) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not
the correct explanation of (A)
(3) (A)istrue but (R) is false
(4) (A)is false but (R) is true
The reaction between an o - bromo acid ester  69.
and a carbonyl compound in the presence of
zinc is known as -
(1) Blaise reaction
(2) Blanc reaction
(3) Reformatsky reaction
(4) Clemmensen reaction
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Frafererm ARTel & Faer § ey B &

fy —

@) C-Lidvs srafie e 21

(2) oElErm 49 afNedie YW
&8RP B 2 |

(3) odfaRrm ANE T BE-—eRg
AP & T § URAS sfiimde
FT P B T !

4 oEaRET GRS § ey it
S 11 R M e A G R
HHT & R U PEGCET Ol
T BT 2

FNFIRIT PRPT W =R BT —

(@) g B |ASTHAT

(b) oI &I T FaCH Gl

(¢) HHe Bt SaIfRr

@ foris ot wofa

e & Rafem &l Ay &1 99 ek

AT & —

(1) &Tel (a) 3R (b) W

(2) ad (a), (b) 3R (c) W

(3) A (c) R (d)

@ @, ®), (IR

AfAFRF (A): BEITalRe vl  Faeie
S H WR B UfesElss,
PICH Td UehlEle o 9=
B |
HROT (R): BIaifaafeord el o 3o
gﬂ?—ﬂﬂaﬁm@wéﬂﬂ@w
[
el SR A —
®» =FiA) R ® @ E AR ®),
(A) T I IRAT &
(2) TFi(A) 3R (R) ¥ § T R),
(A) & I ARHYT <81 &
3) (A) 99 & 3R (R) 3RTw &
@ A)ITITARR) GT &

e & SRy 7 o - 9197 TRie Teex aiR
éﬁﬂﬁﬁaaﬁﬁmaﬁaﬁmmﬁﬁ
1) =iy s

2) TP IAMfHar

® ReRicw afbfhar

@ aelia i
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i70. Physisorption is characterized by all of the 70. ifF siffriwer # smifafed @it Tor 8
. following, except - F fyag —
(1) reversibility (1) SopaviiEar
¥ (2) low enthalpy ) =
(3) high adsorption of gases with low @) = FIaE T (Tc) arel ai &1
critical temperature =7 ey
(4) high surface area of the adsorbent @) ST B S= T &
71. Mustard gas is prepared by the reaction of 71. #ee T W 3q b sea &, ulel=
ethylene with - T — !
(1) AICls (1 AICL¥
(2) SOCI» (2) SOCL ¥
(3) ZnCl (3) ZnCL ¥
@) 5:Ch @ S.CL ¥
72. Conformations are  different  spatial 72, B YRANR & AR el fawar
arrangements of atoms that result from - g W S~ & § —
(1) Rotation about a single bond (1) TS Thm! 99 W sguﬁ J
(2) Rotation about a double bond @) up fEdy w peH g
(3) Reflection through a plane (G) TP GHaH P ERT WIAdT o
(4) Translation along the single bond axis @) TP G TR RIRRT
73.  Which of the following atmospheric molecules ~ 73.  JENfoIRaa IRgHSHRT VBT # BT AT
absorb infrared radiation? fopvon @1 e war 87
(1) Hz0 vapour 1) HOodw
2 0O 2 O
3 N 3) N2
@ He (4) He
74. Organotin compounds - 74. wE—fea diffie —
(1) are used as pesticides. (1) IRIEES B aRE WJad B B |
(2) are used as preservatives of wood. (2) <BS BI W wa H ERER] Bl
(3) are used in the production of g
polyurethane foams. 3 Wﬁﬁ w1 & Fmfer § g ER
(4) are not carcinogenic.
(4) El%ﬂ?cﬂff T8l Bid 3 |
75. Untrue statement about Debye T° law is - 75. <915 T Fra @ ey A S $eF § —
(1) At very low temperature (0 < T< 15 Q) IRF=TTO0<T<I5K) W
K) Cp =Cv Cp:Cv
(2) According to this law : (2) U MA@ SR : Cp=Cv=aT?
Cp = Cv=aT* (3) FriEr T @1 9m A (T< 15 X)
(3) The absolute entropy at temperature RS9 B & Cp 3R InT & #1%
(T < 15 K) is determined from the A
graph of Cp versus InT. 4) e weid T W Cp AR T B
(4) The absolute entropy is determined @ N | p =
from the graph of Cp versus T.
14-4 Page 17 of 32



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

e

77.

78.

79.

80.

81.

"A zinc rod is dipped in 0.1 M ZnSO4 solution
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76.
in which salt is fully dissociated. Calculate the
potential of the half cell :
Zn(s) — Zn**(aq) + 2e-
Given that By, 5,2+ = 0.76 V and = = 0.06.

1 096V

2 082V

3) 070V

4 079V
Calculate AG at 300K for the reaction :
2NO(g) + O2(g) — ZNOx(g)
Given that : AH = —120kJ and AS = — 150JK"!

(1) 165kJ

(2) -85k

(3) 825Kk

@) -170k7
The osmotic pressure of solution containing
1 x 102M acid is 0.248 atmosphere at 27°C.
Calculate the Van’t Hoff factor of the acid.
Given that R = 0.082 L atm K mol™.

(1) 1.00

(2) 046 P

(3) 1.50

4 0.02

Which of the following, gas has maximum
global warming effect? .

1) CO:

(2) CHy

(3) N0

4) CFC-11
Which one of the following statements is not
true for complex [Co(NH3)s]*+?

(1) It is paramagnetic.

(2) Itislow spin.

(3) Itis octahedral structure.

(4) Cois sp°d® hybridized.

77.

79.

80.

Which is not the most common coordination  81.
number of Lanthanide?

ay 6

@ 7

3) 8

4 9

e S B B 0.1 M ZnSO4 e & srelr
T SR w907 59 e | gl ﬁa‘ﬂ%ﬁ
&1 arf de: Zn(s) — Zn?*(aq) + 26~
& {3 o 9T B, R & — /
Bpnjzns = 076V 3R T =0061

(1) 096V

2 082V

3) 070V

@ 079V ¢
afffshar 2NO(g) + O2(g) — 2NO»(g)
P fU 300K R AG & T HN]
& & + AH = —120kJ and AS-=— 150JK"!

(1) 165k7

@) -85k

(3) 825Kk

4 -170kJ
Th 1 x 10?M 37 faem &1 27°C =)
RIERYT G 0.248 TSHIRGIR 2| o &I
qr< BI% IOl &1 TOMT By | = T §
f& R=0.082 L atm K mol!

1 1.00

(2 046

(3 150

@ 0.02
SENfeIRag i § foas! Tellgat difdT wig
Haifels 87

1 Co;

(2) CH.

3) N0

@ CFC-11
sEffaiRaa deEl § o
[Co(NH3)s** & weer H a™yeg 87

(1) I8 ST 2|

(2) uE g RO

(3) U IATHABI T & |

(4) Co, sp’d®> Gl &1
AOIES B Adifte WER G G
o g -

@D 6
2 7

8
9

el

3
@

14-%
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82. The non-bonding electrons of NHs are in 82, IR ¥ a4 goracr fpg MO 817
which of the following MO?
@ la 1) 1a
2) 2a @) 2a
3) 3a 3 3a
@) 2 @ 2 .
83. How does hydrogen fuel cell generate 83. TBISSIoM 389 Jol HY Aol S~ Bl
electricity? & -
(1) By combustion 1) T8 R
(2) By fusion (2) ST BRI
(3) By fission (3) T grI
(4) By electrochemical reaction @) m affpar EmT
84. Consider the following reducing agents used 84. UF Ufeselss ® = aifiedesl gwr
for reducing an aldehyde - AR Hd §
(8 NaBH: (2 NaBH; _
(b)  LiAlH. (b)  LiAlHs s
(©0 Zn-Hg/HCl (c) Zn-Hg/HCI
(d)  KOH-Ethylene glycol and heat (d KOH-Tereliq Telsdiel 3 ag
Alcohol is obtained by - {1 N1 TowplEla urat Bam 87
(1) (p)and (c) 1) bR () E™
(2) (2)and (b) 2 (2)3R(b)ERT
(3) (c)and (d) () ©IAR@EW
@) All(2), (b), (c) and (d) @) ¥ (@), (b), () 3 ()

85. Which of the following reagents is used in 85. omNfoiRag afrewel 9§ $i=m 1° 2080w 3°
separation and detection of 1° 2° and 3° I B TSI T4 YATHI # B 3Tl
amines? 87

(1) CsHsS0O2C1 (1) CeHsSO:CH
(2) NaHSO4 2 NaHSO42
86. Assertion (A): Fluorine shows only one, —1 86. ffwer (A): TN ueRig oear & dad
oxidation state, whereas other T —1 SARIHoT J7g=er,
halogens show both positive SiaiP A gale UMD
and negative oxidation states. TG S e STRIIHR0T
Reason (R): Fluorine is the most e veidfa oy €
electronegative element. HRYT (R): TN waiftie e g«
Select the correct answer - 21
(1) Both (A) and (R) are true and (R) is the T SR ET_';[ _
correct explanation of (A) M <[EA) ¥R R) 99 § iR (R),
(2) Both (A) and (R) are true but (R) is not (A) & |E ==
the correct explanation of (A) @ ﬁ(A) R ®R) W_ & g (R),
(3 (A) is true but (R) is fal (A) I 1 e T &
(&) is true but (R) is false @ (A) T # 3R (R) e @
4) (A) is false but (R) is true @ WIug IR R TR
14~ Page 19.0f 32
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87.

88.

89.

90.

91.

Regarding the substitution reaction Sn2 of an
alkyl halide, which has a halogen bearing group
attached to chirality centre, the untrue
statement is -

(1) Order of reaction in, eacht of alkyl

halide and nucleophile is one each.
(2) Both RX and nucleophile are involved
is transition state.
(3) The configuration of the product is
inverted relative to RX.

More than one stereo isomers are
formed.

)

2H
; —-——> CH,-CHO+HCI
CH,COCl 3o pco CHs

The above reaction is called -
(1) Reimer-Tiemann reaction
(2) Cannizzaro reaction
(3) Rosenmund reaction
(4) Reformatsky reaction

Which of the following technology is not useful
for implementation of Computer Assisted
Instructions?

(1) Hardware Technology

(2) Software Technology

(3) Courseware Technology

(4) Training Psychology Technology

For an elementary second order reaction :
2 A — products, the concentration of A reduces
from initial 0.2 x 102 mol/L to 0.05 x 102
moVl/LL after 10 min. What is the value of rate
constant of the reaction?

(1) 1.5L mol! min?!

(2) 1.5x10?L mol™ min’!

(3 3.0x10°L mol! min™!

(4) 0.75x 10? L mol™ min™!
Branch of psychology dealing mainly with
problems, processes and product of education
is known as -
(1) Educational psychology
(2) Psychological education
(3) Animal psychology
(4) Child psychology

87.

88.

89.

90.

91.

GET IT ON
Google Play

TH U Ufedd Boniss Pl uireenus aifdifshar

Sn2 # Fored gdioH wnfia 89 aren W g

e AT agEIign s P

e H NI Y E ~

(1) < SR fRee. tams ik
TABIET UAF # TH BFY |

(2) SHi RX 3R fIerIwga GhavT
ITRT P 9N &

(3) SR P HE RX @ 3

BINEIECRERR

T O e Bfm Tuemd wu

I |

@

2H
CH3COC1—-—>P 250, CH, ~CHO+HCl

SURITT AR Bear) & —

@) TSER—SFE T

2) AoRT A

(3) erTgre sifAfear

@) Roldicw afafman

FrefereT # & S a@iie prgex wer
IEE & R g Suarh 96 82

(1) TEER ghIH
(2) RN deH-lD
(3) DRI THID
4) uREw IS Jes
T RIS b : 2 A - SarE, f2dl
Pfc @ B THP URRE  HrEdr
02 x 102 mol/L &1 #9 10 fFe #
0.05 x 10 mol/L ¥& I & | J1fufipar & ovr
s &1 A T 87
(1 1.5L mol! min’!
(2) 1.5x%10*L mol! min™
3) 3.0x10°L mol! min™
4) 0.75 % 102 L mol™ min!
AR B 98 R S g R e
eerell, ufhaiel R Sl ¥ geld
3 _
(D
(2)
3
)

Sifdrs Aifasm
LRICEHECARE )]
U] A
CIERGICEIE]

1}1-:&
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92.

93.

94.

95.

96.

Among the following analytical reagents, 92.
which one is based on rare earth element?

(1) Ceric Sulfate

(2) Potassium permanganate

(3) Mohr’s salt

(4) Potassium dichromate

Consider the drugs for pain relief - 93.
(a) Morphine

(b) Heroin
(c) Aspirin
(d} Paracetamol

The non-narcotic drugs are -

(1) (a)and (b)

(2) (c)and (d)

(3) (c)and (b)

@ (a)and (@)

Which approach to learning holds that people  94.
actively construct or make their own
knowledge and ‘reality is determined by the

-experiences of the learner?

(1) Constructivism
(2) Behaviouralism
(3) Functionalism
(4) Structuralism

Which of the following stage of moral 95.
development comes under conventional level
as prescribed by Kohlberg?

(1) Ego - Centric Judgement

(2) Interpersonal Concordance Orientation

(3) Punishment and Obedience Orientation

(4) Universal Ethical Principle Orientation
Incorrect statement about CQOs5 is - 96.

(1) COz has four vibration modes.

(2) Asymmetric stretch vibration of CO2 i$
IR inactive.

(3) Symmetric stretch vibration of CO; is
IR inactive.

(4) Bend vibration of CQ2 is IR active.

SENfeTRET S%eilies AMFHADT # BT gord

el Tl IR IR &7

1) JRE dowe

(2 URREH WASTE

(3) HIEx U

@) U SEHRT
EfifaRaa S—Fane T8 W fER & —

(@) #(EH

(b) =EA

(c) TRaRT

(@) tera
FATTF T & —

1) (2) 3R (b)

@ (©3R@)

3 (o) 3R (b)

@) (2)3iR()

A % fog e gfcenr o8 w8
5 T Afthy ®T I AT 3 SRR B
g R I8 arafdear ReErRl & gl 9
fraifRa &t 87

(1) =EER

(2) WIERAE

(3 UFHaE

@ <EEEE ‘
frefolaa & 9 @9 Sfde e @
AR PITATT §RT UG IRITT W D
it o 87

(1) 3T g ol

(2) TR THHU AHTERT

(3) TS AT MG AT

@ wERE Afde Rgia sifrearn

CO; ® T T 3FTg o & —

(1) CO; # TR Hu= o aidl 1

(2) CO, I JFAMT TTH FHU SR
(IR) arferamefiel &Iam &

(3) CO, & GHAT BT JEIR. (IR)
Jfshareie gar &1

@) CO; &7 §6 $Y9 IIEIR. (R)
forareia e 21
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97:" Conmder the'followmg processes - 97. seifafad wikramel wR R & —

(a) _:Addluon of -AgNO;s solution to KI (a) AgNO; fdermm &1 Ki faess. #
S uL,SO]lltIOIl , |
(). -Additior of KI solution to AgNO; (b) KI faeme &1 AgNO; o= 4
. solutlon A Gl
) © Addltlon 6f FeCl; to excess hot water. ©) FeCl, &7 7§ el @ onees ¥
{d "{&ddmon of -FeCl; solution to NaOH e | .
S ' d) FeCl, Re@ @1 NaOH faerm #
_ GRS
3 Hﬂﬁ@gﬂ’\;‘iﬁr oo sem?
@) and ) oy O R ©
T (3) (b) and (d) only k) e (b) 3R (d)
" (@) (). aﬂd (¢) only @ Baa (a) iR ()
98, “The bacteritidal antibiotic is - 98. SiamERT akeifds & —
ey Penlqgll;p . 1) affafer
P @)° Tetracychne (2) <orEiE
<) Chlorainphemcol (3) FENEBFB
v Lo Y E @) gReHERE
.99, 1 99. wﬂﬁﬁm@aﬁ@swmﬁm%—
- 1) FOTEE
(2) oD
(3) I S S
@) T FIR ROMAD HAH AR
HHTHD
i0o. 100. Mn?* ITTH BT ATLEGA aﬂ'{[ﬂf g~
(1) 59BM
2) 4.9BM
3 39BM
i 4 2.8BM ,
101. .. € 101.  seifeREa IRFiesl &) fER & -
- (a) AHlmx =0

(b) AHmix = OIS qH
(c) AHpix = H-IcH® AT
(d) AVnix =491HE HIT

W fere & fo |8 S € —
@ @
2 ©
, 3) ®)
. , @ @ e
102. Parameters belongmg to orthorhombic crystal 102, I oFaner frvea o™ 9 Wi IvMier
system are= . ¢ g —
(1) “a;b—c (x B Y= 90° (1) a=b=c;(}(,=l3='y=90°
@ a#bie;osp=y=90° @ a#brc;a=p=y=90°
- @ sdsBreyaZp= 90°,y=120° 3) a=bwc;a=p= 90°y=120°
o) azb=clo=p=y290° @ a=b=c;a=p=7+90°

S R Page 22 of 32
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103. Arrange groups : 103. ¥ - N N
—-CH,OH, —CHs, ~H, -CH.CH,OH ~CH;OH, —CH;, —H 3R ~CH.CH:0H .
in decreasing priority for R-S configuration - Ef_;ﬁ Wﬁ?ﬁ? %‘g’ E_b_q K =

(1) ~CH;0H, —CHs, ~CH,CH;OH, -H (1) -CH,OH, ~CHs, ~CH;CH,OH, -H
(2) -H,-CH;, -CH0H, —-CH,CH0H () -H,-CH;,~CH,OH, -CH:CH,0H
(3) —CH>0OH, -CH,CH:0H, ~CHs, -H (3) ~CH:0OH, —-CH,CH,0H, —CHa, —-H
4) ~CH,CH;OH, —-CH:0H, -CHs;, -H 4) —-CH,CH,OH, -CH,OH, --CH3s, -H

104. Wurtz reaction and Kolbe’s electrolytic 104, Iw arfifspar ue DI, ﬁgﬁ—ama?rﬁ fafer

method cannot be used for the preparation of - BT TANT & B Ghd & T F —
(1) Ethane @ w=

(2) Propane (2) U=

{(3) Methane @) 4= 1

{4) Butane @) a;\év-[

105. Who was the propounder of Advance 105. W WIS9IHSG URANM & Yadd $HF .

Organizer Model? o
(1) Richard Suchman 1 R i
(2) David Ausubel 2 SRS Irgya
(3) J.S. Bruner @) < T TR
(4) John P. Dececco @ it 9 <R

106. The w - bonded organometallic compound 106. 7 — dfilg sHEuRer e R i

which has ethane as one of it’s component is - SOBT U Hed © —
(1) Zeise’s salt 1) 9 dHiee
(2) Ferrocene Q) B
(3) Dibenzene chromium @) <RI Bikgy
(4) Tetraethyl tin @) ToRe e

107. The paramagnetic behavior of ion 03 is 107. %TRFT 07 & JITFTFD, T B AT B!
explained by - - .

(1) Valency bond theory M) w3 Rrgra
(2) VSEPR theory 2) drrasdiem e
(3) M.O. theory @) T fgr

(4) Hybridization of orbitals )  BEDT BT HBT

108. +8 Oxidation state is shown by which of the 108. aEifeRag Tmaor engell # 48 sifefimxor

following transition elements? e f&as gRr welfa & ey 27
(1) Co 1 Co
(2) Fe (2) Fe
(3) Mn 3) Mn
@ Os @ Os
14-4 “Page 23 of 32
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109. Assuming that for a reaction 109. IE 9 §¢ i s
As) + X% (ag) > A (ag) + X(s) AG) + X (aq) » A% (aq) + X(s) B K¢ &I
K¢ is 2.0, calculate the standard potential of the w9 2.0 &, 7 9 @ AFS faWd ST A9 91T
cell. Given - = 0.06 aRr| Rar 5 T = 0.06
@ 0045V 1 0045V
2) 012v 2 012V
(3) 0.00eV 3) 0.008V
4 0.0018V 4) 0.0018V .
110. Which of the following shows geometrical 110. 3tENferREa LI o & ) (S
isomerism? HHEgad] T 87
(1) Propylene (1) o=
(2) 1-—butene 2 1-TEH=
(3) 2-butene 3 2- EE‘PH
(4) Isobutene @ m@{a:r
111. What is the name of technology that employed 111, S G+ &1 M &7 & S GoHl & I
activities involving information which include TRk w fAEfa e g Snd
gathering processing, storing and presenting ol § ST UHAv UETHRY, HSROT
data, increasingly these activities also invoive IR wegm wwT WA B Ton ¥ S
collaboration and communication? TR ¥ wganr ok SR 8 e 87
(1) Artificial commpnjcation technology 1) TG dHEE
(2) Information and-communication @) IR TOR THdE
technology 3) gi?a’ T T
(3) Intelligence combined technology @ A 8
(4) Virtual technology
112. Base not common to both RNA and DNA 112. %ﬂqaa ST RNA 3k DNA R # /9 el
is - -
(1) Adenine 1 1 w=FF
(2) Guanine 2 R
(3) Cytosine (3) g
(4) Uracil @ R
113. The reaction of toluene with CLin presence of 113, CL @ TIgga & R ™ I1 YHILT @
heat or light does not yield — Suferfy ® fFar | S Soaig w9l
?
(1) Benzyl chloride %(1) dfore FARTSS
(2) Benzal chloride (2) e wWINES
(3) Benzotrichloride 3) JCETARES
(4) Chlorobenzene @) FERRAA
114. The oxidation state of cobalt in complex, 114. ﬂaﬁ' [CO(H:2NCHCH2NH>)312(SO4)3 #
[Co(H2NCHz CHz NH2)3]2 (SO4)3 1s - PIETeT B SiFEHT =T 8 —
1)y +1 a +1
2) +2 2 +2
(3) +3 (3 +3
4) 0 (zero) @ 0T
14-24 Page 24 of 32
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115.

116.

117.

118.

The conductivity of 1x10™ M acetic acid
solution is 5%107 S cm? moll. Calculate the
degree of dissociation of acetic acid, if molar
conductivity of acetic acid at infinite dilution
be 400 S cm? mol L.

@ 1.25
2) 0.125
3 0.01
4 1.00
Based on the standard reduction potentials —
(a) AgFf+e—>Ag(s);+080V
b)) Cr*+3e—-Cr(s);—074V
() Cu*+2e—Cu(s):;+034V
(@ A*+3e—-Al(s); 166V
Identify the strongest reducing agent metal.
(1) Ag
(2) Cu
3 Al
4 Cr

In relation to glucose, match Lists 1 and 2 and 117.

choose the correct answer from the code given
below —

List -1 List-2
(Reagent) (Conclusion)
(a) Prolonged (1) Presence of
heating  with >C=o
HI
(b) Reaction with (i) Aldehydic
HCN >c=0
(¢) Oxidation with (iii)) Six carbon
Br; water straight chain
(@ Acetylation (iv) Presence of
five —OH
groups
Code -
a b c d
1) iii i ii iv
2 i ii iv iii
3 i iv iii 1
4 iv iii ii i

The number of possible monochloro structural  118.

isomers from (CH3)CHCH,CH3 is -
¥ 3
2) 4
3 5
@ 6

115.

116.

1107 M UdiiRes ava@ @ @remar
5%107° S cm?® mol? & Wifews oy
RIS @ AT B AT e R €
Wies e & AoR drelhar ad aa
R 400 S cm? mol™! & |

1T 1.25

(2) 0.125

3 0.01

4 1.00
S e fug & R Tv -
(a) Agt+e—Ag(s);+0.80V
(b) C*+3e—Cr(s);—074V
() Cu*+2 - Cu(s)s+0.34V
{d) AP* 4+ 3e - Al (s); -1.66V

AP ATARF ey UedH] |

(1) Ag

2 Cu

3 Al

@ Cr

S B e ¥ g 1 @R 2 7 e

B T i Ry GE T 98 SR gsEE —

-1 -2
() (Frpy)

(@ HIBIRIXR () >C=0a$r
6 ame Rerf
mrl {

(b)) HCN & 9 (i) Clessies

() B S B (iif) TE—PET
T ST At sfEar

(@ vHRe®RT  (v) w=m  —OH

T =)
SufRerfy
@_
a b C d

O i i ii iv

Q) i ii iv i

(3) i v i i

@ iv i i i

(CH3CHCH,CH; ¥ 49ifdg <wRe- s

ARFART GHTEAl B HeE § —

@D 3

(2 4

3 5

@ 6

14-%
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119. The formation of one mole SO from SOz and  119. T& A SO; T SOy T 0x W W
O2: . . _ S0,(g) +304(g) = SO3(g). 970007 BRI
502(g) +502(g) — S05(g) is exothermic by 300K W SWEd 3, v sffear &
97000 J at 300K, when the reaction is carried Hee ¥ 1 atm. T9 TR BRE TS| 59
out at 1 atm. pressure in a bomb calorimeter. sffpar @ W AH &1 A9 @ &R
What is the value of AH for this reaction (R =8.31)?

(R =8.30)7
(1) 974901 @) 974901)
(2) -967551 (2 967553
(3) 995007 3) 995007
(4) 982457 4 -9824517

120. ‘Which of the following statement is not true for  120.  JiehfaiRad ®eml # BiFET LCAO fafr @

LCAO method? forg w1 €

(1) Combining orbital must have the same O T qTe} HEDL BT Sl TH lear
or:nearly the same energy. ST HE B0 TNeg |

(2) Combining orbitals must have the Q) A TS HED B wafAfe, a1
same symmetry about the molecular HEF TN AN BN GRS |
axis. AT — TRAT

(3) A p-orbital of one atom can combine ) E;ﬁ E%r b EEW%
with p, orbital of another atom. @ P Eﬁfﬂﬁm @3?5% I

(4) A px orbital of one atom can combine ) gﬁ /AT 3 Px 3
with p, orbital of another atom. p: TEH X G Pl =L

121. Assertion (A): Nitrogen shows a maximum 121. SRR (A): TSEIOM STaaq Gadrerddl

covalency of 4 whereas 4 iR wxar & wEls
phosphorus shows a maximum BEpRYT 6 YRl oear 21
covalency of 6. PR (R): TEEoE &I AL OIMHS,
Reason (R): Nitrogen has-higher GIpRT ¥ ote 2 21
electronegativity than phosphorus. TE SR W —
Select the correct answer - M) =Fi(A) 3R (R) | § R (R),
(1) Both (A) and (R) true and (R) is the (A) P W AT ©
correct explanation of (A) (2) THI(A) 3R R) ¥F & g R),
(2) Both (A) and (R)-are true but (R) is not (A) B WL = TE B
the correct explanation of (A) 3) (A) ¥4 T 3R (R) 3 T
(3) (A)is true and (R) is false @ (A TR IR R T E
(4) (A)is false and (R) is true

122. Among the following complexes, the 122. 3mEiiferiaT Gepel! §, AN Wl B fderdHi
maximum AgCl precipitate shall be given ¥} Soaaw AgCl &7 J@8TUe P WERIT
by - TP

(1) [Co(H20)6]Cl3 (1) [Co(H20)%]Cls
(2) [Co(H20)3Cls) (2) [Co(H:0):Cls]
(3) [Co(H20)4CL]ICl (3) [Co(H20)4Cl]C1
@ [Co(H20)sClICl2 @) [Co(H20)sClICl2

123. Enthalpy of vaporization of benzene is +35.3kJ 123, &5 @7 amIaRoT P SH TAD TG
mol? at its boiling point 80°C. The entropy 80°C TR +35.3 k) mol'®, 9 TP IH T
change in the transition of the vapour to liquid Tg & G0 & o T F uRadw
at its boiling point (in JK'mol™) is - (K mol* #) —

1 -441 Q) 441

(2) -100 (2) -100

(3) +441 (3) +441

@ +100 @) +100
14-% Page 26 of 32
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124.

125.

126.

128.

127..

Which of the following is not the characteristic

‘of communication?

1) Communication is dynamic
(2) Communication is continuous
(3) Communication is reversible
(4) ‘Communication is interactive

The half-filled and fully filled electronic
configurations are more stable than partly filled
configurations due to -

(1)’ exchange energy

(2) lattice energy

(3) ionization energy

@) ¢lectron affinity

Which of the following is a primary law of
learning given by Thorndike?

(1) Law of Association Shifting

(2) Law of Readiness

(3) Mutltiple Response

(4) Law of Partial Activity

In case of an ideal gas Joule Thomson
coefficient is -

) Zero

(2} Positive

(3) Negative

(4) Infinite

A graph plotted between log k v/s 1/T for
calculating activation energy is shown by -

Y
logk ////////
T —
2
ng;[ i
| ur —
3 I
Jogk
T—
@ I
logk
1/T—>

125.

126.

127.

128.
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129. Sucroseisa- 129. g T —
(1) monosaccharide (1) "ANTRES
(2) disaccharide (2) SEIAPIES
(3) oligosaccharide (3) siferiievss
(4) reducing sugar @ e e
130. Which of the following metals provide 130. awifoRaw orgell ¥ B W SR HI o
cathodic protection to iron? ¥ Peiifes e ot 27
(1) AlandCu (1) Al3fRCu
(2) MgandZn (2) Mg3iRZn
(3) ZnandCn (3) Zn xR Cu
(4) Aland Ni @) AlSRNi
131. Consider the following epoxides — 131. eEifaReT sueass AifTel ) faER & —
(a) 2 - ethyloxirane (2) 2 — Sergaeiiaang
(b) 2,3 - epoxybutane (b) 2,3 - U
(€} 2,2- dimethyloxirane © 2,2— SEARRIRT
The molecular formula C4HsO represent which SURTA CaHO Suferae o fbesr wafRid
of the above? AT &7
(1) (a)only (1) @9 (a)
(2) (b)only (2) Dad (b)
(3) () and (c) only 3) I (b) IR (©)
@ Allof (a), (b) and (c) @ (), (b) 3R (c) T BT
132. The second order rate constant of a reaction at 132.  100°C W U% fgaiia Sife @1 fAfepar GG L
100°C is 3 x 10 L mol™ s~.. Calculate the frrais w1 9 3 X 1074 L mol™ s &
value of the rate constant at 400°C. Given that 400°C TR 37 FrIdis 9 g o3| RIr g
the energy of activation of this reaction is equal 5 =9 affepar & Gispaer So B AN
to zero. -+ ;
(1) 9%x10*Lmol!s™ Elg %Ig % 10 L mol-! s
(2) 1.5% 10_4 L 11’10]."1 S_1 (2) 1.5 % 10——4 L mol! S—l
(3) 3Ix 10_4 L II'lOl_1 S'_1 (3) 3 x 10—4 L mol‘l S—L
@) 6x10*Lmol” s @ 6x10~L mol s
133. Consider the carbocation’s — 133. sEifefad R farR & —
@ @
CH,-CH-CH, -CH, CH,-CH-CH, -CH,
(a) I () |
CH, CH,
@ @
(b) CH, —-(IZH—CH2 —-CH, (b) CH, —(IZH—CH2 —-CH,
Cl Cl
@ @
© CH,-CH, —(IZH—CH2 © CH,-CH, —(IZH—CH2
Cl Cl
The most stable carbocation is - aRe IS PR & —
1 @ 1 @
@ O 2
3 © 3 (©
(@) (b) and (c) equally stable @) (b) 3R ()TN w4 ¥ ReR
14-4 Page 28 of 32.
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134. Which of the following d — orbital is an axial 134. EfoRag d — werdl ¥ & o 3T
d — orbital? d- $&EF &7
(1)} dxy (1) dy
(2) dxe 2) dx
3 dxz—y2 3)- dy? —y -
@) dy ) dy.
135, Which of the following molecule has seesaw 135, smifeiRaa srpell & e g amofy
shape? 87
(1) CIF; 1) CIFs
(2) XeFs (2) XeF4 -
(3) SFs ‘3 SF;
(4) BiFs (4) BiFs
136. Among the following substitutéd aniline, 136, 3EifIRET ufRFeIRT it ¥ waifte
which is strongest base? Hﬁﬁ B R? K .
(1) o- aminoaniline 1) o-— Qwﬁ:ﬁg—rﬁ?ﬁ:f !
(2) m - aminoaniline @) m-ERA
(3) p - aminoaniline 3) p- A
(4) p - methylaniline @ p- — IR
137. The ty,of afirst order reactionis 80 min. Inhow  137. U wemt IR 1 afdfran & g ty, @ AN
much time the initial concentration of the 80 foFie &, s aifafsar & v o &
reactant, which is 2.0 mol/L, shall be reduced URME A7ET gfe 2.0 mol/LET T fobaT w9
to 0.25 mol/L? # 0.25 mol/L ¥§ SIRA?
(1) 120 min “ (1) 120 min
(2) 640 min (2) 640 min
(3) 240 min (3) -240 min
(4) 320 min (@) 320 min
138. Which of the following has the highest packing 138. /=1 % ¥ ®9HT S=adm S EAC I IEC )
efficiency? 27
(1) Simple cubic (1) <R TNE
(2) BCC (2) BCC
(3) HCP (3) HCP
(4) All have same efficiency @ I % 9EE g &
139. About RMgX, untrue statement is - 139. RMgX & €I ¥ a0y Ho & —
(1) It is prepared by addition of RX to an (1) 9T 94T RMgX &7 v faeirs
excess of suspended Mg in a solvent. F efag Mg & 61 fRemex =g
(2) The solvent used must be nonprotic g
polar. (2) Tems smifes gd 8mr =Ry |
(3) It can be stored like any other (3) SEPI I AT B GRE GUT 6%
ch.emical. ‘ . B |
(4) Itis the most important organometallic @ T® Mg @ AR
compound of Mg. FreRaE W 2
140. The non-essential amino acid is - 140. IFITIE TE) ST & —
(1) Alanine 1) e
(2) Valine 2 e
(3) Leucine 3) Elﬁ’ﬂ?l
(4) Lysine @ ==
14- Page 29 of 32
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In which of the following coliidal forms both
dispersed phase and dispersion medium are

liquid?
(1) Butter (2) Milk
(3) SoapLather (4) Cloud

The bond order of each C-O bond in carbonate
jon is -

m 1 2 2
3
@ 15 @4 2
Which of the following is not a step of system
approach?

(1) System analysis

(2) System design and development
(3) System operation and evaluation
(4) System engine

Human  development follows  certain
principles, out of following principles which is
not correct?

(1) Development is a product of
interaction between heredity and
environment.

Development is a‘continuous process.
Development proceeds from specific
to general.

Different aspects of development are
interrelated. )

The electrophile E® attacks the benzeiie ring to
generate the intermediate c-complex, of the
following which o-complex is of lower
energy?

1)

(2)
3

@

H .t

2 No
H
o
3) NO,
(o |g
~" “E
@ NO,

141.

142.

143.

14,

145.

Efefeg s wal § Fed <F
gﬁf@mmqﬁqﬁ@mwmsﬁ
?

1) wag+ @ @«

(3) WETHFHAFT (4) €&
;ﬁﬂﬁewﬁu@zﬁc-owiﬁ‘cﬁrﬁ
@ 1

3 15

2 *
3

4 2
¥ F DITEI YOIl NH FT Ug

@

SoIgerd el E® §wufiT 96 WX SIEHHOT PR
Tl o-Xige e 8, FeafaRaa d 9
59 o-Xiga & Gl A 87

m

14-4h
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Which of the following is the second phase of
syntax of inquiry training model?
(1) Encounter with the problem
(2) Data gathering process for verification
(3 Formulating an explanation
(4) Analysis of the inquiry process

Cannizzaro reaction is not shown in which of
the following?

(1) HCHO

(2) CsHsCHO

(3) CHs;CHO

(4) (CHs); CCHO
All of the following are characteristics of
benzene, except -

(1) benzene is planar

(2) there is complete delocalization of

- electrons

(3) benzene obeys Huckel-rule

(4) C-Cbond length in benzene,is 133pm
Absorbance of a solution of a solute is not a
function of -

D Apax -

(2) Concentration of solute

(3) Molar extinction coefficient

(4) Path length of the cell

Which of the following element does not come
under scope of educational psychology?
(1) Nature of learning
(2) Growth and Development of Human
Personality
(3) Individual Differences
(4) Mental Discase

146.

147.

148.

149.

150.

I

.

frefeiem § @ oW qeae 9l

UiH™ @ Wvemr B B s 27

(1) T BT GHAT BRAT

(2) qieawer & g aidel &1 s

() TART AT R BT TRIATHROT

@) Yoars ufkar o1 gy

SR sifdfsar e § § ey el

&l g /7 .

(1) HCHO

(2) CeHsCHO

(3) CH;CHO

@) (CHz); CCHO

AeferieT it el o ST § R

S & R —

(D) I e &

2) = - seEEE v Renfig 89 &

(3) T THa P B gerE Pear @

(4) C-C¥¥ P o7 Ig 133pm Bf 2

B o & fiemw @1 soymue

3efferRed # fraaer wer 78 27

1) Amax

2) e ¥ argar

@) AR o o

@ b P 9T Fard

i 3 I wiar aw Ren a91RsE

@ IRII &7 B T TS ey 27

D) e 3 vy

(2) #rg afdw @ afgly sk SaET
fawra

) TP AT

@) ¥Ry [T

ER I i Mt

14-4
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Space for Rough Work /3% & & ford w7s.
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